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PlanPlan

• IntroIntro 
– 5 min 

• Cases• Cases
– 3 x 5 min
– 2x 10 min

• Wrap‐up: what does all this mean? (5 min)



But First… is this art?

Mark Rothko, 
Untitled 1953



IntroIntro

• How did this get started?How did this get started?

k l d• Acknowledgments 

• Disclaimer
– I don’t think I have the answer to, well, anything!do a e e a s e o, e , a y g



Case 1 – DUI Apps 
blProblem

If there is an app for your Smartphone thatIf there is an app for your Smartphone that 
allows you to see where (user‐reported) DUI 
Checkpoints are will this be valuable to would‐Checkpoints are, will this be valuable to would
be drunk drivers?



Case 1 – DUI Apps
lAnalysis

• Consider: Police have same data streamConsider:  Police have same data stream
• Let’s think of this in terms of a game

Drunks / Police Deploy opposite DUI App Deploy where DUI App says

Believe DUI App ‐1 0

Don’t Believe DUI App 0 ‐1

Notional  payoff matrix for the ‘DUI Game’.  Drunks 
d b l i hi h b i lcan do no better playing this game than by simply 

guessing, making the value of information ‘zero’

• Multiple routes…Multiple routes…
• Other issues… 



Case II – Asthma Attacks
blProblem

• A patient has asthma attacks on average once 
k h ‘ f h bl ’ hevery 6 weeks, that are ‘out of the blue’.  Their 

doctor recommends they try some medicine 
for two weeks and then let him know if itfor two weeks and then let him know if it 
works.

• Should they?
l h ld h k d b f• How long should they take medicine before 

thinking it actually works?



Case II – Asthma Attacks
lAnalysis

Two possibilities:  p
• Either the medicine works, or
• They’re just lucky
• Assume:  Exponential distribution between attacks.  

– (Why) is this an okay assumption?
l ld h h i h k• How long would they have to go without an attack to 

conclude that the medicine works?  
– About 18 weeks.About 18 weeks.

• Useful fact:   3 .05e 



Case III – Budgets and Brinksmanship
blProblem

• The Federal Budget August 2011The Federal Budget, August, 2011
• Nobody wants to see the United States 
actually defaultactually default.

• … But neither side wants to be the first to 
i ldyield

• What can Game Theory  teach us about the 
budget process?



Case III – Budgets and Brinksmanship
lAnalysis

This case is different than the DUI‐App gameThis case is different than the DUI App game

Player 1 \ Player 2  Steady  Flinch 

Steady  (‐10, ‐10)  (5, ‐5) 

Flinch  (‐5,5)  (‐1,‐1) 

 

Notional payoff matrix for the Budget Brinksmanship 
game.  Note that while nobody wants the crash, nobody 
wants to be the first to ‘give’ either.



Case III – Budgets and Brinksmanship
lAnalysis

• Optimal Strategy: Figure out how close youOptimal Strategy:  Figure out how close you 
are willing to get, and flinch the instant 
beforebefore…

O i i ?• Or is it?  
• Other applications… 
• Implications for “Rational” Behavior



Case IV: Airline SeatsCase IV:  Airline Seats

• I’m on an airline that doesn’t assign seats,I m on an airline that doesn t assign seats, 
but rather gives you a number for which 
you can choose your seat

• IF there were a ‘magic ticket’ which would 
give you your pick of numbers… 
– What’s the best number to have if you only 
care about a particular seat?

– What’s the best number to have if you care 
about seats and your neighbor?



Possible NeighborsPossible Neighbors



Case IV: Airline SeatsCase IV:  Airline Seats

• This could be very hardThis could be very hard…
…Or very easy

di h i illi• Depending on the assumptions we are willing 
to make!

• Let’s talk about some boundary cases:
– First Person onboard
– Last Person onboard



Now, on to the middle…Now, on to the middle…

• Let’s make this easy:Let s make this easy:
– Assume that nobody takes a middle seat until one 
comes availablecomes available

– Everyone is ‘alone’

Seat Preference  Required Ticket to Guarantee  Approximate odds of Sitting next 
to ‘best’ Passenger 

Front row Isle  2 2.2%
Window Seat or Isle Seat  30 33%
Window or Isle Seat  60 67%

 





Case V: Minimum Risk Bike RoutesCase V:  Minimum Risk Bike Routes

• Two situations we wish to avoid:Two situations we wish to avoid:
– Crashes involving a car
– Crashes not involving a car, with no cars aroundg ,

• This could be hard, or this could be easy
– (Let’s make it easy)(Let s make it easy )

• Assume that the cars are lined up in a ‘strip’ 
that passes the bicycle, and the difference inthat passes the bicycle, and the difference in 
speed determines how quickly the strip is 
moved.



Mathematically,Mathematically, 

• Let:Let:
– The distribution of individual cars along the ‘strip’ 
be Poisson with parameter be Poisson with parameter 

– The speed of traffic be
– The bicycle speed be


CS

S– The bicycle speed be
– The distance of the ride be:

• Then the distrib tion of car passings is

BS

D

• Then, the distribution of car passings is 
Poisson with parameter:

( )C B

B

S S D
S

 






Wrap up – What does it all mean?Wrap up  What does it all mean?

• What mathematics education has done for usWhat mathematics education has done for us 
– and what we need to do to move it forward

• Don’t leave our students
• Colleagues
• Selves
• Halfway up the hill 



Was it Art?Was it Art?

Jackson Pollock, Blue Poles #11



Fin.





Markov’s NurseryMarkov s Nursery

• A parent with two infant children, which p ,
may be in one of two states:
– Happy, denoted by 
Crying denoted by

i
– Crying, denoted by 

• A minor twist is that the time a child 
crying is dependent on the probability 

i

y g p p y
that the other child is crying

• Another minor twist is that the data is 
d i t (Wexpressed in rates (We assume 

exponential Distributions



Markov’s NurseryMarkov s Nursery

• We could use a Markov ChainWe could use a Markov Chain…
• But let’s use a Generating Function instead!
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Whi h l b i G• Which we may evaluate by using  ·( ) t GP t e



Markov’s NurseryMarkov s Nursery
• Numerical example: If we let:
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• We find that:
• Both children are happy 30% of the time

.2m n  

Both children are happy 30% of the time
• Mary Only is happy 18% of the time
• Neil only happy 14% of the time• Neil only happy 14% of the time
• Both crying 36% of the time.

N t ll i iNot really a surprise, since 
Mary had a little Lambda



FINFIN

For real this time 


